—— O-I
N = 0 & AF & Y A
2A: A ZH 0t
A oY HE(SYHLS
TR MAF DIBEAIE =5 (9 ® =)
- - L=
CEE B (3 H) - ALY ol &k o8 T = HDZ2
O &F o8
2= A i3 29,168,221 26,945,477 2,222,744
= 9,474,560
g 35,000
& 19,658,661
4 Ae HYJE St=E(sHol YA /YL HHE 29,129,711 26,905,284 2,224,427
= 9,474,560
= 35,000
o= 19,620, 151
JIBIAI A &= 18,745,813 11,706,384 7,039,429
= 8,705,000
g 35,000
o= 10,005,813
AZHH 2= (K AH)(HEH Y AEHE AN (2 52,000 52,000 0
= 26,000
= 26,000
403 XX S M S X201 A 52,000 52,000 0
= 26,000
= 26,000
02 2| 2S0 et 2= EAIS Y 52,000 52,000 0
OHFH Y Al EHf R A} 52,000
= 26,000
= 26,000
A2 A 2= (KIXFAN) (A HO A 24 = 1,040,600 82,250 958, 350
= 968,000
= 72,600
403 XX SHHS K20 & 1,040,600 75,250 965, 350
= 968,000
o= 72,600
01 XIS A2 X 1,040,600 75,250 965, 350
Ot 2 H 1,040,600
= 968,000
o=} 72,600
2R ES(=2D) 1,354,286 681,657 672,629
= 1,200,000
& 154,286
403 XX SHHSK20| & 1,354,286 681,657 672,629
= 1,200,000
& 154,286
01 MXHHE2E = 1,354,286 681,657 672,629
OMENALAHT ESAL 1,354,286
= 1,200,000
= 154,286
2ol Y MAME SO 350,260 490,860 A 140,600
202 044 18,000 11,000 7,000
01 2L I 18,000 11,000 7,000




SN AUFBDY
HMa: AWML OIlY HE(SWLSL/HSES z)
Chel: MAF JIHHAIE &5 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oo Moy SO 18,000
308 XXM SOIA 206,860 126,860 80,000
01 AXHHIYEES 206,860 126,860 80,000
O=x=4telol & J1g8dA XI& 50,000
OEJtAtel =0HALY 76,860
O Al XA 80,000
403 A X EHHS =0l A 125,400 353,000 A 227,600
01 X EHHMA=LE L 125,400 353,000 A 227,600
OFXY IJtsel A&l XI& 50,400
OLHE SRUY MOAIL X 75,000
Ut AU EIHE(21) 35,000 1,662,000 A 1,627,000
s 35,000
403 MtXISHE X201 & 35,000 1,662,000 A 1,627,000
ras 35,000
01 X SHHAN2E = 35,000 1,662,000 A 1,627,000
OXY A2sHALY 35,000
s 35,000
ngoie RAZ 262,617 262,617 0
401 Al HI L = Tl 205,617 205,617 0
01 A& HI 204,000 204,000 0
oxgus =22 204,000
03 Al S THHI 1,617 1,617 0
oxgas Ex=22 1,617
403 A X EHHS =0l A 57,000 57,000 0
01 AXISHHA2E = 57,000 57,000 0
OXY H HEFF=HEY AI=2t2| 57,000
HEEFNHEIHE 1,085,000 590,000 495,000
403 MHXSHHSA=01& 1,085,000 590,000 495,000
01 X ESHHMA=LE L 1,085,000 590,000 495,000
OHEZ=0E MY 750,000
OEAIHESHE =4 335,000
HEsagdX(21) 500,000 500,000 0
= 250,000
< 250,000
403 A X EHHS =0l A 500,000 500,000 0
= 250,000
< 250,000
02 SO 2SOIlCHEH A2 X 2| & A I 500,000 500,000 0
OWESESNAEH XA 500,000
= 250,000
= 250,000

N




A AT
A FMBYS 0UIIY HE(SYHYLL/HS LM - 01F)
ol M JIRHAIA BHE (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
HESLE300(=22) 7,066,050 510,000 6,556,050
= 6,261,000
< 805,050
403 UHXISHHSA=0l& 7,066,050 510,000 6,556,050
= 6,261,000
< 805,050
01 HXESHMA=LE L 7,066,050 510,000 6,556,050
OUE=E300 7,066,050
= 6,261,000
< 805,050
THOHF 2k XILHE AIEEGEI (&) 7,000,000 0 7,000,000
401 Al B2 28I 7,000,000 0 7,000,000
01 A& HI 6,982,000 0 6,982,000
OMaoli 2 XLHE ALEH (HE) 6,982,000
03 Al 20 HI 18,000 0 18,000
OMolF2 NLHE AL (HE) 18,000
Jz=og s4 5,602,998 8,606, 100 A 3,003, 102
= 19,560
< 5,583,438
=4S R 2t 10,000 1,044,300 A 1,034,300
207 A&y 10,000 10,000 0
01 A2 ESHI 10,000 10,000 0
O==4tE R JA DA & 10,000
AFREEZ3(=20) 25,148 39,600 A 14,452
= 19,560
< 5,588
403 MtXISHHE =01 & 25,148 39,600 A 14,452
= 19,560
< 5,588
01 AXSHMA=2EE 25,148 39,600 A 14,452
oz EdRHES 25,148
= 19,560
< 5,588
GOt E MAHZR 22l 2,061,000 1,996,800 64,200
201 Let24E] 4,200 3,000 1,200
01 At 2teltl 4,200 3,000 1,200
O¢etH&E HAHA 2229 4,200
202 O4dl 12,000 9,000 3,000
01 =S LHA YI 12,000 9,000 3,000
OdHNE HMAHAX 222 9,000
OHYOIOIE JIBALY =& 3,000
403 A X EHHS 20l A 2,044,800 1,964,800 80,000




SH: MEHY
A FMBYS 0UIIY HE(SYHYLL/HS LM - 01F)
H: JlE2eEng 4 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 XIS A2 X 2,044,800 1,964,800 80,000
OdHH AAA X 177,600
OHEX= AHIMH &Z 156,000
OU=S Bt HENAEY =2 180,000
oREs s A= 150,000
O ZJteld] M seE aFAl 45,000
k= ANA - Aretd XM 315,000
OOl & MEES kAl 330,000
Odllat SSFAAST =4 540,000
Ol HEAA(IIFE)AE XA 151,200
EAMS AREMAIE XM (ZIIREXH) 150,000 180,000 A 30,000
403 XX SHHS K20 & 150,000 180,000 A 30,000
01 XIS A=Z2E X 150,000 180,000 A 30,000
OFMME MBHAR X4 150,000
SASTIHL LR (M E) 1,033,800 0 1,033,800
403 XX SHHS K20 & 1,033,800 0 1,033,800
01 XIS A=Z2E X 856,800 0 856,800
O AT = (cHSH ) (HEH) 856,800
02 BI2SHUSXAN=2EAEAIS Y 177,000 0 177,000
OF=NMERMYEE SUEAH(HE) 177,000
HiCls M4 (&EH) 1,173,050 0 1,173,050
403 XX SHHS K20 & 1,173,050 0 1,173,050
01 XIS A2 X 1,173,050 0 1,173,050
OHICtE X4 (MEH) 1,173,050
CIZ2O=ALHE (M EH) 1,000,000 0 1,000,000
401 AlEHIZ 2 0HY| 1,000,000 0 1,000,000
01 Al& B 996,400 0 996,400
OCIZH=AL (& 996,400
03 Al&E 201 Y| 3,600 0 3,600
OPIZ20H=AL (&g 3,600
HZOEELEBL(HE) 150,000 0 150,000
403 XX SHHS K20 ™ 150,000 0 150,000
02 BI2SHUESX2EAEAIS Y 150,000 0 150,000
O=H&EELE22A(MEH) 150,000
SSANE X4 Y M2 IXALD 4,780,900 6,592,800 A1,811,900
= 750,000
&< 4,030,900
ZARANSY FHO L EXXRAISE (2D) 1,500,000 1,500,000 0
= 750,000




SN AR
HE: FWAUS AP B (SYHSLM/HLLL - OfE)
oSl REAM T4 Y A4S IIXHD (el mel)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 750,000
307 glz2tol & 1,500,000 1,500,000 0
= 750,000
< 750,000
02 It M AHE X 1,500,000 1,500,000 0
Oty Y - EXNXE 1,500,000
= 750,000
< 750,000
A2 IS - FSIIBAIE & BH2OHH 672,000 1,053,800 A 381,800
202 (44l 9,000 9,000 0
01 = LH o4 1l 9,000 9,000 0
Ox=4tE I8 - RSIIEAIE B2 H 9,000
307 gl2tol & 100,000 0 100,000
02 It M AHE L 100,000 0 100,000
OUZAl ==t SEA A 100,000
308 XXM SO A 20,400 32,400 A 12,000
01 IXNHHBNEES 20,400 32,400 A 12,000
SN2 I AHIFSTEHA XA 20,400
403 MtXI S S X201 & 542,600 1,012,400 A 469,800
01 XXM 22 = 542,600 1,012,400 A 469,800
OEHEZ M2MEAIL K& 33,600
O==&s ATHAIE FH 195,000
oOfbe BE BANM 18,000
Ox=ds M2MHE A4 296,000
Y o= 2 FHl 210,000 325,000 A 115,000
403 MtXISHHE =01 & 210,000 325,000 A 115,000
01 XM A=2E X 210,000 325,000 A 115,000
OREHRX =2 A& XA 210,000
2@ ey 2435t 153,600 118,800 34,800
308 XXM SOIA 86,400 86,400 0
01 AXHHILEES 86,400 86,400 0
OZHAY ZFHER SHEHE S20HHE 86,400
403 UHXSHHSA=0l& 67,200 32,400 34,800
01 HXSHMA=E X 67,200 32,400 34,800
OZHAY ZFASER &EHig=sI A& 29,400
OZH&Y ZFAE SEHEIEI] K& 37,800
M2 RESFUEH AHE(HE) 1,432,800 0 1,432,800
403 A X EHS =0l A 1,432,800 0 1,432,800
01 X SHHXN2E = 1,432,800 0 1,432,800




LR
%

M. FY = Hlle s (sl a/lSa - HE)
Sl SEAM T8 U SNE XKD (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OFNESSESFRUIHAY (M EH 1,432,800
A2 EO)E(HEH 360,000 0 360,000
403 ItXISHM S K201 & 360,000 0 360,000
01 XX SHMA2E X 360,000 0 360,000
A2 RO ER (M EH) 360,000
SN2 QTHE(HE 277,000 0 277,000
403 MtXISHHMS K201 277,000 0 277,000
01 HXISH A= E 277,000 0 277,000
OFdE8 T (HEH 277,000
M2 MXIIBAIE(HE) 175,500 0 175,500
403 X SHMS K201 A 175,500 0 175,500
01 XX SHMAA2E X 175,500 0 175,500
O4AZ2 AXIIIZ2AE(HEH) 175,500
HESHAY| (=AA D) (DIEH/DIE 38,510 40,193 A 1,683
Jl=23tl 38,510 40,193 A 1,683
EMN2Y JI2&4l 38,510 40,193 AN 1,683
201 Bt A | 19,763 19,763 0
01 At 22l Yl 19,763 19,763 0
ORNME&Y AIR2t2ltl 19,763
202 04| 15,147 16,830 A 1,683
01 2LHHI 15,147 16,830 A 1,683
ORA2ZE =UWHAOYI 15,147
203 € R =&lY| 3,600 3,600 0
04 ENSIHRF=EY| 3,600 3,600 0
©2092! 0] ot 300,000& x12& 3,600




